
CLUSTER HOUSEHOLD RESPONDENT
NUMBER: NUMBER: ID CODE:

TIME STARTED

1 105 - 16 = ?

(a) . . . . . . . . . . . . . . . 89
(b) . . . . . . . . . . . . . . . 91
(c) . . . . . . . . . . . . . . . 99
(d) . . . . . . . . . . . . . . . 111

ANSWER

2 There are 4 rows of chairs, and 12 chairs in each row.  What is the total number of
chairs?

(a) . . . . . . . . . . . . . 12 + 4
(b) . . . . . . . . . . . . . 12 - 4
(c) . . . . . . . . . . . . . 12 x 4
(d) . . . . . . . . . . . . . 12 - 4

ANSWER

3 Which of the following numbers is the largest?

(a) . . . . . . . . . . . . . . . 0.1
(b) . . . . . . . . . . . . . . 0.01
(c) . . . . . . . . . . . . . . 0.111
(d) . . . . . . . . . . . . . 0.1101

ANSWER

4 1% of 400 is:

(a) . . . . . . . . . . . . . . . . 1
(b) . . . . . . . . . . . . . . . . 4
(c) . . . . . . . . . . . . . . . 40
(d) . . . . . . . . . . . . . . . 400

ANSWER

5 The height of a man is closest to 2 __________

(a) . . . . . . . . . . . millimeters
(b) . . . . . . . . . . . . . meters
(c) . . . . . . . . . . . kilometers
(d) . . . . . . . . . . . centimeters

ANSWER

6 Two cities are 12 kilometers apart.  Each day, a bus makes 3 round trips between
these cities.  How many Kilometers does the bus travel each day?

(a) . . . . . . . . . . . . . . . 72
(b) . . . . . . . . . . . . . . . 36
(c) . . . . . . . . . . . . . . . 15
(d) . . . . . . . . . . . . . . . . 4

ANSWER

7 An island has an area of about 300 square miles.  The government reports that the
western 1/3 of the island is not suitable for cultivation.  How many square miles of
this island are suitable for cultivation?

(a) . . . . . . . . . . . . . . . 50
(b) . . . . . . . . . . . . . . . 100
(c) . . . . . . . . . . . . . . . 150
(d) . . . . . . . . . . . . . . . 200

ANSWER

8 In an office building, each office has about 22 square meters of floor space.  In
this building, a square office would measure about how many meters on each side?

(a) . . . . . . . . . . . . . . . 4.7
(b) . . . . . . . . . . . . . . . 5.5
(c) . . . . . . . . . . . . . . . 11
(d) . . . . . . . . . . . . . . . 484

ANSWER

9 If a=-3 and b=3, then 2a+b =2

(a) . . . . . . . . . . . . . . . . 0
(b) . . . . . . . . . . . . . . . . 3
(c) . . . . . . . . . . . . . . . . 9
(d) . . . . . . . . . . . . . . . 12

ANSWER

10 If 2x - 3 = 17, then x = ?

(a) . . . . . . . . . . . . . . . . 7
(b) . . . . . . . . . . . . . . . 10
(c) . . . . . . . . . . . . . . . 14
(d) . . . . . . . . . . . . . . . 20

ANSWER



CLUSTER HOUSEHOLD RESPONDENT
NUMBER: NUMBER: ID CODE:

FOR QUESTIONS 11-16 READ THE PASSAGE BELOW. 

You could smell the fish market long before you could see it.  As you come closer you
could hear merchants calling out about fresh catches or housewives arguing about prices. 
Soon you could see the market itself, brightly lit and colorful.  You could see fishing
boats coming in, their decks covered with silver-grey fish.

11 What kind of market is described above?

(a) . . . . . . . A vegetable market
(b) . . . . . . . . . . A meat market
(c) . . . . . . . . . . A fish market
(d) . . . . . . . . . A fruit market

ANSWER

12 What could you see coming in?

(a) . . . . . . . . . . . . Tug boats
(b) . . . . . . . . . . . . Row boats
(c) . . . . . . . . . . Fishing boats
(d) . . . . . . . . . . . . Sailboats

ANSWER

13 What covered the decks of the boats?

(a) . . . . . . . . . . . . . . Rope
(b) . . . . . . . . . . . . . People
(c) . . . . . . . . . . . . . . Boxes
(d) . . . . . . . . . . . . . . Fish

ANSWER

The cat brushed against the old man.  He did not move.  He only stood, staring up at the
window of the house.  The party inside looked warm and friendly, but no one noticed him. 
The old man walked sadly on, followed by the cat.

14 What kind of animal was following the old man?

(a) . . . . . . . . . . . . . . Mouse
(b) . . . . . . . . . . . . . . . Dog
(c) . . . . . . . . . . . . . . . Cat
(d) . . . . . . . . . . . . . . Bird

ANSWER

15 What was inside the house?

(a) . . . . . . . . . . . . . A party
(b) . . . . . . . . . . . . Some dogs
(c) . . . . . . . . . . . An old lady
(d) . . . . . . . . . . . . A meeting

ANSWER

16 The man is described as being

(a) . . . . . . . . . . . . . . . Old
(b) . . . . . . . . . . . . . . Young
(c) . . . . . . . . . . . . . . Thin
(d) . . . . . . . . . . . . . . Small

ANSWER

TIME FINISHED


